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Time: 3 Hours

| Note: 1. Question 1 is compulsory
| 2. Answer any three out of remaining questions.
= Q1 A) What is dimensional modelling? Design the data warehouse for Who1esalc furmt@ue [IU]
Company. The data warehouse has to allow analysing the company 's situation.at’ &
least with reSpect to the Furmture, Customer and Tme More ex!er, the companyir-~‘= AN
: b TS ;
customers with respect to their spatlal locatl"()n,',- 'y Faur
regions and states. The company is mteresteﬂ ml S S
discount of its sales. | JELHSE
— B) Discuss different steps involved in Dataj’ -'j[i_lj}

Q2 A) The college wants to record the Mad:s\
the dimensions: i) Course, ii) Sm}dent 111}T;m6 & aineasur ggre‘g , marks
Create a Cube and descrlbe féllowing OLAP operatxons A &

-

for buys computer'\classrﬁ,canon and [10]
smdent=”’yes and
credxt-ratmg—“falr‘:} '_ i

d Age»-

ting 'hu}i;s computer
& ys?m_l.g_ ‘

~|no

~ N adno

yes

yes

yes

no

yes

no

yes

yes

yes

yes

yes

no

Q3 A“ E;phm E'I'Lnﬁ“data warehousmg in details? ' [10]
8) Ex;ilﬁﬂ;pw ofattrlbutes and data visualization for data exploration. [10]

)
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following Data set with two clusters. S
Data Set = { 15,15,16,19,19,20,20,21 22,28,35,40,41,42‘,4‘ v

Q5 A) Explain Updates to dimension tables in detail.

Confidence = 70% ;
i] Find all frequent patterns using Apﬁon Kigegﬁhm
ii] List strong association rules. .

Transaction _Id Itemﬁs;;
01 |
02
03
04
05
06
07

[20]

|
|
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QP Code : 16278
(3 Hours) Pt ':‘_.."':_«_\[‘[pta,,l \M-_‘arks': 80

N.B. : (1) Question No. 1 is compulsory. : v

(2) Solve any three questions from remaining questlpns 2 to quesﬂons 6. &

(3) Please specify you answers with neat sketch and examples wherever necessarv

(4) Assume suitable information to support your answers and specnfy the. same g

1. Answer any four questions from the followmg o R A 5, 20

(a) What are the three categories of theusers ? How theycan he provrded w;th facmttes
to ensure feasihility in operatlort e R NS N
(b) What are the factors that are consu.'!ered to. choose co}ours e '
(¢) What do you mean by keybqard acceierat‘or and keyboard equwalent ?
(d) How images and graphics are. importaqt in Desjgn ;
(e) Provide brief information on“QUalltatNe ‘and Quantltatwe ReSearch
2. (a) Explain following with respect to Handlg response Tu‘ne RS B3 12
(i) Progress Indlcator S D T v
(ii) Elapsed Time Message KPP S " s
(iii) Hourglass" Pmnter i« AR : o

(b) What are three’ Ievels of processmg and seven stages of Actlon ? How they areinterrelated  §
to each other 7 LR ST o S S :

3. (a) Petroleum Company want to estahlté*n unmanned pertrol Pumps at major locations, 12
Where Veh!cie OWner:s can fill the petrol on thelr own and the payment will be either
by cashless in the form of Debit Cau:d or Credtt Card or at some points there may be
Bank Note payment [Cash) by amnmattc machlnes Following are some functional
irequnrements > oS ; > »
Therewlllbe automa’t;c gate\thatwdl nbt alldw owners to take their vehicles if they didn't

- ‘make the paymen:t Pro\rlde detailed systém analysis and possible interaction design that

= wdl help to execute the same for. pertroleum companies. Your design should also contain
suutbale dlagrams

(b) List gr=nera| prinmptes of yser | mterface design, Explain any 4 in detail. 8

; NI
4. (a) Whatare different presentat:on styles of windows ? State advantages and disadvantages 10

of 2ach style of window." d

{b) Pravide: q;ff_erent device based and screen based control for following. 10
(i) Filling up Online Application for Admission to Engineering Course.
e (i})“'oh!tne payment of Utility Bills such as Telephone, Electricity and Water charges

LOORSY - [
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5. (a) What do you mean by Persona ? mention steps to design pe[sona. R ',5;:7 ;g >
(b) Explain six behavioral patterns in detail. N SR AR O |

6. Write short note on any four :- S T y N . 57 20
(a) Goal Directed Design S LG R R A e AT A
(b} Gestait principles & .
{c) Menus RS ESE SN NE RS, 4
(d) Feedback and Guidance B S S o SRy
(e) Learning. RS F D RERDE TS SO Sl
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T4528/T1794 B.E(COMPUTER ENGG)(SEM VIII)) (CBSGS) PARALLEL AND D[STRI%U'EE% gé'gjfgg J MA 7~ 17

~ ' Duration: 3 Hours | [Total Marks -8“0]
Y7 B

78 < N.B. (i) Q. No. 1 is compulsory

10 5 (i1) Attempt any three questions out of the remaining five questions

10 .
20 | (a) What are the common issues with which the designer of a heterogeneous 05
20 distributed system must deal?

ANE (b) State and prove Amdahl’s Law to compute speedup of parallel computers. From 05
experiment it was verified that 70% of execution time was spent on parallel
execution. What is the maximum speedup that can be obtained with 16 processors?

(¢) Explain the concept of Processing Element in SIMD architecture. 05
(d) Explain stream oriented communication with an example. 05

2 (a) Discuss Raymond’s Tree based algorithm of token based distributed mutual 10
exclusion,
(b) How pipeline hazards are classified? Discuss data hazard in detail and list the 10
techniques used to eliminate data hazard.

3 (a) Discuss and differentiate various client-centric consistency models. 10
(b) TIlustrate the parallel Algorithm for matrix multiplication and compare the 10
performance of this algorithm with sequential matrix multiplication algorithm.

4 (a) Describe code migration issues in detail, 10
(b) What is a logic clock? Why are logic clocks required in distributed systems? How 10
does Lamport synchronize logical clocks? Which events are said to be concurrent
in Lamport timestamps.

5 (a) What is the requirement of Election algorithm in Distributed Systems? Describe 10
any one Election algorithm in detail with an example.
(b) Define a Remote Procedure Call. Explain the working of RPC in detail 10

6 (a) Describe File-Cashing schemes. 10
(b) Differentiate between Job scheduling and load balancing. Discuss the issues in 10
designing Load Balancing Algorithm.
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: ‘f BE -CMPN ~ SEM-NTIT CC&SG&)/ RIG DATA ANAL\?TIC§/
MAY ~201F
QP Code : 725401

(3 Hours) | Total Marks :80

NB.: (1) Question no. 1 is compulsory
(2) Attempt any three from the remaining.
(3) Assume suitable data.

1. (a) Whatis Big Data? What is Hadoop? How Big Data and Hadoop are linked? -]
(b) Explain Page Rank with Example. Can a Website's Page rank Ever Increase? What = 5
are its chances of Decreasing? :
(c) Explain Hubs and Authorities with neat diagram.
(d) With respect to data stream querying, give example of
(a) One Time queries
(b) Continuous Queries
(c) Pre-defined queries
(d) Ad-hoc queries

i Un

2. (a) Explain Hadoop Ecosystem with core‘components, Explain its Physical architecture. 10
State Limitations of Hadoop.

(b) Wliafis'MapReduce ? Explain How Map and Reduce Work? What is Shuffling in 10

MapRedU‘ce?'
3 (a) Forthé_('}_rapl; given below use betweenness factor and find all communities. 10
(b) How would you get the features of the document in a content -based system? Explain 5§
document similarity. '.
{c) Whatis triangular matrix? How it is used for main memory counting? 5

[TURN OVER]
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QP Code : 725401

4 (a) Explain Collaborative Filtering based recommendation System How 1t is d;fferent &
from content based recommendation systems ? ; - |
(b) What are Combiners? When Should one use combiner in mapreduce job’?
(c) How to count distinct elements in a stream? Explam Flajolet-Martln Algonthm

5 (a) Given a1 Dim Dataset {1,5,8,10,2} Use the aggIomerau\re clustenng algonthm 10
with Euclidean distance to establish hlerarchlcal groupmg relatlonshlp Draw the L
dendrogram . : £

(b) Consider a Portion of Web Graph Shown bc‘low _ SR E 10

(@) Compute the hub and authanty scores for all the nodes.
- (b) Doesthis graph contains spuier traps? Dead ends? If so, which nodes?

(c) Compute the page Rank of the nodes with teleportation 3 =0.8? (Show

two iterations. only) :
6. (a) Whatis NoSQL" What are the- busmess rdnvers for NoSQL? Discuss any two
a.rchltecrural patterns ofNoSQL.
(b) What isa Data Stream Managemcnt Sys{em? Explain with Block Diagram

C2DF5C445B501E99B517E9C32BC642EC
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Be / CMPIN / SEMNTIT D / MACHT NE  LEARNING / My~ A F

Q.P. Code 16171
0 [Time: 3 Hours] [Marks 80]

; Please check whether you have got the right questlon paper

C2DF5C445B501E99B5 i TE9C32BC67D98

e N.B: 1. Question no 1 is compulsory.
2 2. Attempt any three questions out of remalmng five questzons
i 3. Assume any suitable data wherever required but justify the same.
i Q1 A. What is machine learning? Explain how supemsed learning is dlfferent from unsuperwséd learnmg 05
B. Explain Bayes theorem. 2978 v A TR ‘ 05
0 C. What are the elements of reinforcement learmng? ' Ca 3 ‘ R 8 05
‘ D. Describe the two methods for reducing dfmenSIQnality. _ ol WPhng i 05
' Q.2 A. The following table shows the midterm and flna! exam grades obtained for students in a database 10
course.
Midterm | Final
exam (x) | exam (y)
72 84
50 63
81 77
74 78
94 90
86 75
59 49
65 77 ) b
33 . |52
88 |74 ]
81 |90
Use the method of least squares using regresswn to predlct the final exam grade of a student who
recewed 86 on the midterm exam.
' ST Gt 10
B. E)gp!am the step_s.-mkdevelopln_g-a,machme.-learmng application.
Q.3 A, Fdr a SunBurn dataset given below, construct a decision tree. 10
Name { Hair Height Weight Location | Class
Sunita | Blonde Average Light | No Yes
| Anita Blonde | Tall Averagé | Yes No
| Kavita. | Brown .| Short Average Yes No
‘Sushma - | Blonde | Short Average | No Yes
Xavier | Red Average | Heavy No Yes
Balaji .~ | Brown Tall Heavy No No
‘Ramesh Brown Average Heavy No No
Sswetha | Blonde Short Light | Yes No
1
1 ’ Turn over



Q.P.Code :16171
B. What is Support Vector Machine (SVM)? How to compute the margin? ¥
Q.4 A. Explain Hidden Markov Models.
B. Use Principal Component analysis (PCA) to arrive at the transformed matrix for the given "ﬁ:a’;rix A.
AT =210 -1 o }
4 3105

Q.5 A. Explain how Back Propagation algorithm helps in classification.

B. For the given set of points identify clusters using complete link and averége link using agglomErative

clustering.

A B
Pl 1 1
P2 15 ] 15
P3 5 5
P4 3 4
P5 4 4
P6 3 3.5

Q.6 Write short notes on any two:-
A. Temporal difference learning
B. Logistic regression . :
C. Machine learning Applications

g
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